Lecture 23:

Non-Equilibrium Pf3

Other kinds of Boownian Motion

The appendial theory we are corning is useful for other kinds of random processes besides a particle in solution To illustrate this, lets look @ Memical reactions

Simplest reaction is A E B

expect dA = BKB - AKF

<u>dB</u> = AKF - BKB

In this case, we know

A+B=N const # molecules

Q Eq still true, Acg + Beg = N In the spirit of our prev work, think about A=Aeq tC, Aat a particular time is a deviation two eq This means B= Beg - C Cmensures reaction condition from gll in A ((= Beg) to all in B ((=-Aeg)) Lastly, we have our defined balance cardition Acq Et = Kis Beg Cambining this info, we have d(Aegte) = - kg(Aegte) + kg(Beg-c) d(Beg-C) = kf(Aeg+C) - kg(Beg-C) dt dAey = dBee = 0 Subforct: 2 dC = 2kg(Beg-C) - 2kg(AegtC)

 $\Rightarrow \frac{dc}{dt} = -(kf+kB)C$ $=)C(t) = e^{(kt+k_B)t} e^{Crku=kt+k_B}$ Maeroscopic Litthon eq deays to eq. exponentially Onsages Regression Hypothesis [1931) Small fluctuations decay on the awage money Q of the same way as Macroscopic deviations Enot really a hypothesis, more like so for always the theory law] Makessense, how world you know whether prepared in Mis state, or result of true hyperniscs $\implies \langle C(f) C(f) \rangle = \langle C^2 \rangle_{eq} e^{-(f_1 + f_2)(f_{-+})}$ Hovener, it can't be true that the non eq condition goes to C=0...

and then the number of A&B are fixed, they have to fluctuate randomly Have to maintain a 2027eg flut is hon-zero This is just like Brownian motion so, postulate dC = (E, tkz)C + SF dt > & Now <SF(+) SF(+')>= 2(E,+Kz) XC2/eqS(+-+') HW This is a macroscopic view of chemical og, but where do these rate constants come tran. For this simple prob, we expet something like AB Ulg) AB & PA/PB AG & CA-JB Q F & CA-JB Q F & CBANCE

Now we have to connect this for the Microscopic Start mech theory we've learned all semester. Moleurly, we still have $Q(x,p) = C \int dx \int dp e^{-\beta H(x,p)}$ Kent problem Example could be 99,99⁸/, Debre y by a collective coordinates transition state Q qt (an Iin A) (an defre a function $H_A(q) = 5 | q c q^{4}$ A. (HA)= XA= Aay Aeg+Beg Since ALATis I in A 20 otherwise $\begin{bmatrix} H_A & 2 \end{bmatrix} = \begin{array}{c} H_A & (A & 1^2 & P(A) + H_A(B)^2 & P(B) \\ \hline P(A) + P(B) & P(A) + P(B) \end{array}$ PLAN+P(B)

 $\Rightarrow \zeta S H_A^2 > = \zeta H_A^2 > - \zeta H_A >^2 = X_A - X_A^2$ = XA(I-XA)=XAXB Now, already said $\zeta(t)(t) = e^{-t/2rxn} \cdot \zeta(z)$ similarly at a microscopic lovel LoHA(gcen)oHA(gcon) = e-t/erxn (6HA) => e = <SHA(g(t))SHA(g(0))> call HA(get) = MA(4) For simplicity since we care how the number in A is charging in the take time dats - 2 - e-+/2rm - (SHA(H)SHA(O)) XAXB Lust time sort of discussed (. Peg 50 $\frac{1}{2} = \frac{1}{2} \left(\frac{1}{1} + \frac{1}{2} + \frac{1$

For our case - (stalobia(t1) = (stia(0)stia(t1)) Important to hube dHIg] = g d HA = -g S(g-g) Be changes from 0-7-00-70 instantaneously $50 - (SH_A(u)) = (-quot_(quot-q^*) SH_A(q(t)))$ = < q(0) S(q(0)-q) S H B(q(H)) Since HB=1-HA and Lig(0) S(g(0)-g^{*}))=0 b/c velocity & configs are incorrelated Finally -t(Zrxr = 1 (v(0) S[q(0)-q+]Hp(q(4))) Crxn KpXs Right side is flox cossing sorter it ends op in B

Left side is simple exponential & contaccant for really short time flucs, here

citalence regression hypothesis is the only after course-graining over short thre scales, so expelt this to betwe for Complex fee Trun (fest barrer crossing) If so the = katks = the (vio)6(quo-q*)HB(que)) mult by No & detailed believe XALCT + KO) = B (KF+KS) = BA (KF+KS) = KE (KF+KG) A+B (+ BA (KF+KS) = KE (KF+KG) =Kf So $K_f = \frac{1}{\chi_0} \langle v(0) S(q - q^{*}) H_s[q(t)] \rangle$ This connect microscopic behavior at the transition state to the macroscopic resultion refe

$n_{A}(t) = H_{A}[q(t)],$ $H_{A}[z] = 1, z < q^{*},$ $= 0, z > q^{*},$ $(H_{A}) = x_{A} = \langle c_{A} \rangle / \langle (c_{A}) + \langle c_{B} \rangle \rangle$ $(H_{A}^{2}) = \langle H_{A} \rangle = x_{A}(1 - x_{A})$ $= (\langle BH_{A} \rangle^{2}) = x_{A}(1 - x_{A})$ $= (\langle BH_{A} \rangle^{2}) = x_{A}(1 - x_{A})$ $= x_{A}x_{B}.$ Exercise 8.5 Verify these results. Exercise 8.5 Verify these results. $r_{cording} \text{ to the fluctuation-dissipation theorem, we now have exact on the other ensures of this relationship, we take a time derivative. Since \langle A(t)A(t') \rangle = -\langle A(t - t')A(0) \rangle, \text{ we have } -\langle H_{A}(0)H_{A}(t) \rangle = \langle H_{A}(0)H_{A}(t) \rangle = \langle H_{A}(0)H_{A}(t) \rangle = \langle A(t)H_{A}(0)H_{A}(t) \rangle = \langle A(t - t')A(0) \rangle, \text{ we have } \langle A(t)A(t') \rangle = \langle A(t - t')A(0) \rangle, \text{ we have } \langle A(t)A(t') \rangle = \langle A(t - t')A(0) \rangle, \text{ we have } \langle A(t)A(t') \rangle = \langle A(t - t')A(0) \rangle, \text{ we have } \langle A(t)A(t') \rangle = \langle A(t - t')A(0) \rangle, \text{ we have } \langle A(t)A(t') \rangle = \langle A(t - t')A(0) \rangle, \text{ we have } \langle A(t)A(t') \rangle = \langle A(t - t')A(0) \rangle, \text{ we have } \langle A(t)A(t') \rangle = \langle A(t - t')A(0) \rangle, \text{ we have } \langle A(t)A(t') \rangle = \langle A(t - t')A(0) \rangle, \text{ we have } \langle A(t)A(t') \rangle = \langle A(t - t')A(0) \rangle, \text{ we have } \langle A(t)A(t') \rangle = \langle A(t - t')A(0) \rangle, \text{ we have } \langle A(t)A(t') \rangle = \langle A(t - t')A(0) \rangle, \text{ we have } \langle A(t)A(t') \rangle = \langle A(t - t')A(0) \rangle, \text{ we have } \langle A(t)A(t') \rangle = \langle A(t - t')A(0) \rangle, \text{ we have } \langle A(t)A(t') \rangle = \langle A(t - t')A(0) \rangle, \text{ we have } \langle A(t)A(t') \rangle = \langle A(t - t')A(0) \rangle, \text{ we have } \langle A(t)A(t') \rangle = \langle A(t - t')A(0) + A_{A}(t) \rangle = \langle A(t - t')A(0) + A_{A}(t) \rangle = \langle A(t - t')A(t) \rangle = \langle A(t - t')A(t') \rangle = \langle A(t - t')A(t') \rangle = \langle A(t - t')A(t')A(t') \rangle = \langle A(t')A(t')A(t') \rangle = \langle A(t')A(t')A(t')A(t') \rangle$	Hence	Exercise Furthermore,	According to the $\exp(-t)$ To analyze the con- derivative to obtain $\tau_{ran}^{-1} \exp(A(0)A(t'-t)) = \langle \cdot \rangle$	Exercis	Hence	and	Note	where	let	244
	$\dot{H}_{A}[q] = \dot{q}$ $H_{A}(0)\dot{H}_{A}(t)\rangle$ ond equality $H_{B}[z] = 1$	Exercise 8.6 Derive this result.	According to the fluctuation-dissipation theorem, we now have $\begin{aligned} & \exp\left(-t/\tau_{rnn}\right) = (x_A x_B)^{-1} [\langle H_A(0) H_A(t) \rangle - x_A^2], \\ & \exp\left(-t/\tau_{rnn}\right) = (x_A x_B)^{-1} [\langle H_A(0) \dot{H}_A(t) \rangle, \\ & \text{derivative to obtain} \\ & \tau_{ran}^{-1} \exp\left(-t/\tau_{rnn}\right) = -(x_A x_B)^{-1} \langle H_A(0) \dot{H}_A(t) \rangle, \\ & \tau_{ran}^{-1} \exp\left(-t/\tau_{rnn}\right) = -(x_A x_B)^{-1} \langle H_A(0) \dot{H}_A(t) \rangle, \\ & \text{where the dot denotes a time derivative. Since } \langle A(t) A(t') \rangle = \\ & \langle A(0) A(t'-t) \rangle = \langle A(t-t') A(0) \dot{H}_A(t) \rangle = \langle \dot{H}_A(0) H_A(t) \rangle. \end{aligned}$	se 8.5 Verify these results.	$\langle (\delta H_A)^2 \rangle = x_A (1 - x_A)$ = $x_A x_B$.	$\langle H_A^2 \rangle = \langle H_A \rangle = x_A$	$\langle H_{\lambda} \rangle = x_{A} = \langle c_{A} \rangle / (\langle c_{A} \rangle + \langle c_{B} \rangle)$		$n_A(t) = H_A[q(t)].$	HIR LAND

last result is true because the velocity is an odd vector function the equilibrium ensemble distribution of velocities is even and orrelated with configurations. Combining these equations gives $\tau_{nn}^{-1} \exp\left(-t/\tau_{nn}\right) = (x_A x_B)^{-1} \langle v(0) \delta[q(0) - q^*] H_B[q(t)] \rangle,$

but this equality cannot be correct for all times. The left-hand side simple exponential. The right-hand side is an average flux sing the "surface" at $q = q^*$ given that the trajectory ends up in the B. For short times, we expect transient behavior that should not ical rate laws we have adopted can only be right after coarse spond to the exponential macroscopic decay. This does not tion. On that time scale, let Δt be a small time. That is, on a time scale that does not resolve the short time transient ng in time. In other words, the phenomenology can only be that the regression hypothesis is wrong. Rather, the phenome-

 $\Delta t \ll \tau_{rxn},$

he same time

 $\Delta t \gg \tau_{\rm mol},$

 $\Delta t/\tau_{rxn} \approx 1$, and we obtain not is the time for transient behavior to relax. For such times,

 $\tau_{xxn}^{-1} = (x_A x_B)^{-1} \langle v(0) \delta[q(0) - q^*] H_B[q(\Delta t)] \rangle$

 $k_{BA} = x_A^{-1} \langle v(0) \delta[q(0) - q^*] H_B[q(\Delta t)] \rangle.$

ustrate the transient behavior we have just described, let

 $k_{BA}(t) = x_A^{-1} \langle v(0) \delta[q(0) - q^*] H_B[q(t)] \rangle.$

crise 8.7 Show that

sition state theory approximation, Te verify that this initial rate is precisely that of the $k_{BA}^{(\text{TST})} = (1/x_A) \langle v(0) \delta[q(0) - q^*] H_B^{(\text{TST})}[q(t)] \rangle,$ $k_{BA}(0) = (1/2x_A) \langle |v| \rangle \langle \delta(q-q^*) \rangle$

 $H_B^{(\mathrm{TST})}[q(t)] = 1,$ v(0) > 0,

= 0, v(0) < 0.

245

 $\langle \dot{q}(0)\delta[q(0)-q^*]\rangle = 0.$

the fact that

OF NON-EQUILIBRIUM SYSTEMS